Math 1211: Recitation #11 Winter 2014

Name: A Section:

1. Determine the radius and interval of convergence of the following power series:

Slx‘

~ :_0

/\r\
, AEY
A?Pl% Dm["io.{‘l%s(: v\l’—,:\oo) @H“ wl /

=l

e
=Y as Al

T e wefics comiign G D 1.
TL\¢ rﬂ,iuus 0’C (/‘mu—o\yAw {S g = oo
TL\& ;/\l,/('_v rVéf‘l 0‘; (DV\ULY&EW(,? |S (‘-“OO,@)

3

i% (z—=1)"

n=1

2””&--\““/ &j} o le-'\(%>

We borve v}';”\oo \ N+ # NS0

= 2|x~".

- <
% (“_‘u {15‘ *L\Q <,Lr1(,§ Co vl fengy ULW\ 21¥ ‘l I ‘
) !

Tl?\- Lo be-tbeq b He seme o5 xe[i,3).
P SR ban \

.._’
'%o ‘H,\L rm)fus c"\\ Ve (ot te 1S R_

OO \c' }ﬁ-’-?%\,
Cleck migDOlA&‘ A "'Z\ ‘?f& v % nzo

T DWERGES (L\g_rw\oﬂlc geri&)

N TN e Zm“

N—

My (onVEReaS (a”e"wl 4 bown. < ries)

g ‘H,,e/ l/\lcf‘u U’P (WUUW Is ['\1)37,



2. (a) Use what you know about geometric series to expand as a power scries

1
. 1+ 3z
with centre ¢ = 0.
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(b) What is the interval of convergence of the series in (a)? A
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(c) Integrate the series in (a) to express In(1 + 3z) as a power series centred at 0.
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(d) What is the interval of convergence of the series in (c)?
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